APRIL 2017 60515/ BYA6C

Time : Three hours Maximum : 75 marks {
SECTION A — (10 x 2 = 20 marks)
" Answer any TEN questions. 3
_ , —
1.  Define Capital Asset. .
gpgar Qensg — euenTwim). ’é )=\
o b
2. Give examples of Casual Income. I ]
sHQswie auLTETD — 2_FTyeRTd AsT(. é ;
. “+
3. What is meant by Tax Rebate? S U
e _ pt
eufl Zem@mLIg eT6mLIZ) UImg)? — O
4.  Whatis agricultural income? =
eNeuUEMLI QUHLOTATLD GTEDTE) GTETEN? <
5. 'Write a note on income of minor child. ! '
@eareurt cupLoimed LHH @GN cuenys. 5
6.  What is Total Income? =
‘ Qur§s euUHLONEITLD CTETMTE) GTeTeh?
~
7. How will you set off unabsorbed depreciation? R
ﬁFfré;a;uul_ng Gg‘j;'pmrrmgmg, ereucummy FMai(Heumis? "J
8.  Write a note on Section 80 DD. o §
lfley 80 DD upil @illiy eueniys. .
9. Mr. X purchased a house on 1.11.1983 for ¥2,00,000 which was

improved in 1990-91 at the cost of ¥1,00,000 What will be the
indexed cost during 2015-16? (CII: 1983—84 — 116; 1990—91 —
182 and 2015-16 — 1081).

. eréen eremueui 1.11.1983 wieiny ¢. 2,00,000 G]a;rr@g,g,] &I qery
aumiiflenmt. oeng 1990-91 & ep 100,000 Gsewey Gsig
Gmmu@g,@mrm 2015-16 < m@L§§]D5nm SILLeuevemrud L
SILESID eTeucuarey aTe samad (B (1. o ¢ 1983-84 — 116; 1990-91
-182 wpmb 2015-16 — 1081). :

T,L.



10.

11.

12.

13.

14.

Compute income from other sources of the following : 5% Govt.
Securities ¥7,00,000; 7. 5% Chenna1 Mun1c1pa1 Bonds ¥ 5,00, 000;
9% Debentures of a Company ¥3,00,000 and 7% Capital
Investment Bonds ¥ 2,00,000. ~

Qe (mid aﬁlmqmaqﬂcﬂ@pg @sr epoisellemba ALHD euomamD

a;ewasﬁ@a;

5% oi7s (NenemmtisaT . 7, OO 000; 7.5% C;larsmmmﬂ Lnrrgga;[rn L &g
ug,ﬁmma;m . 5,00,000; 9% Himio sL_af® u;ﬁl}rﬁj&;m@ 3,00,000; 7%
WsSLG sLar ugHiasar g5. 2,00,000.

" Comipute the taxable income of Mr. X.

Income from card games = 50,000

Loss from card games — ¥ 5,000

Loss on maintenanceé of race horses — ¥ 10,000

Profit on horse races — ¥20,000. : .

 8m. ardaiv arenLiaufién Quorss A LoD sesdhs.

SlLm L _gHé Quipp eumomeid — ¥ 50,000

&Ll L 586 gpur L piLb— 5,000

UbsW GHaraamer LipmofiiLiSe gpul L plep €10,000

@ﬁcv;lj UHSLISS D FFI'_I.q.u.l.@GDrI'.I_ILb - %20,000.

Mr. X borrowed ¥4,00,000 from a financial institution for his

Medical education., He paid ¥ 40,000 as interest on loan during
the previous year. Find out the amount of deduction ws 80E.

H(o. asov aranuat gang) wEEgI LLdpsTs B PpemsBenbs
. 4,00,000 s QUDDTT. WPHMSW DpeRTIqeD SL6 BFTEm cul g uIng
@. 40,000 QaguSenmit. 19Mey 80E wen Ly sflEsriL@n sramsamu
saEfl(hs. - :

SECTION B — (5 x 5 = 25 marks)
Answer any FIVE questibns'

Explain the procedure for. computatlon of long term _capital
gains.

BaL are pposar sTUSMmS SasSHh weapaw eleuf.

Give ten examples of non-agricultural income.

flausmu QU(HLOMTGHILD aa)amg, gCaeid usg Gu@u)rrmrma;@a;@
2_STyeuwTLD Ga;rr@
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24.

Am. eréev eremueui, 31.3.20166 appuib g HsTer Gemeumid
eleugtiseer aflggiarant. @eru pLLé samsden Ui Blar Gearuid
. .3,.37,500. @eorr Bl é samsdld upm @eussiLl L Csweyser
aumponm: segl Qemhs Uwenssts Lweru®hiSgSnrt.  eflbuemer
samsdled eure| eneussliLl L Ggrens ep. 75,000; SIge 2iL_sselane

. 60,000 GuuUimS@D eilgear emiews e 1,08,000;

Qarerpseissts Qrréswns Qeasdug m. 12,00,000; siémasEu
elpuener eufl - .  60,000; G 20156 G Cums Iy
@ndurell 1 mhg Qubm sLer 8g eully CegigdHug @. 2,10,000.
Qoru pLLé sarsdled aifey @aussiulL QFTSsSEr euHLOMM:
efleugmuid eugponand ep. 1,50,000; UTI Wi 8l@mng Qubp eusomed
. 90,000; ufle Fliger Qaupl Qupm Qsmans em. 3,00,000. Qs
QU(HLOTEILD SerTddl (Hs.

Find out tax liability of Mrs.X in the following cases for the
Previous Year :

(a) She is a resident women and date of birth is June 5, 1960.

(b) She is a resident' women and date of birth is June 5, 1932
Mrs. X has income of ¥9,00,000; (including Long term
capital gain ¥50,000; pension before deduction ¥ 3;60,000
and interest on Government securities ‘¥ 4,90,000; She pays
¥ 15,000 as insurance premium annually.

Qereumd  Hoosad  Hmwd.  aEd  aeuafiLn  phosw
<perigparer eufl QUi ereucueTe] cTes HarTédl (Ha.

(<21) <ieurg WUnHs Cadl e 5, 1960 wOHmIb GuulBLLeuT;

(égb) 2aurg Ypss Csd, @Oar 5 1932 wiHmbd Guudmriveur.
o). eréev euigafen eupwmend p. 9,00,000 (@l Berr
st epager gsmud . 50:000apd; sPlelHE apeent
@uapdwib . 3,60,0000p; Sirs Wemarmubsailedmbg QUDD
el em. 4,90,0000pd Lmdlujereng) e et CHrmid
¢p. 15,000 sriSC () (pevanoons Qeausgidlmm.
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15.

16.

17.

18.

State the provisions relating to set off of losses. .

Bl isemer sfls_(Hsw &Hss eldamen eTpg)s.

Mr. X had bought a residential house on 1.3.2006 for ¥6,00,000.
He spent ¥ 1,50,000 for improvement on 18.11.2009. He sold the
same on 5.03.2016 for ¥30,00;000 for which he had paid a
brokerage of ¥20,000. Compute capital gain. (CII : 2005-06 —
497 ; 2009-10 — 632 and 2015-16 — 1081)

. eréev eramuieur 1.3.20066 . 6, 00 0006 @udmriy @ﬁ@ Qe
curiiflenmi. 18.11.2009 iemm w5 LgI96s @. 1,50,000 Qsway
Qagni. 5.3.2016 ey 1G5 eile ep. 30,00,000 &@ eNpmm.
aflpuenen srsms op. 20,000 Qegusdlemnti. (pager HSTUID Sarss[Hs.
(31.@.61 :: 2005-06-497 ; 2009-10-632 wpHmyib 2015-16 — 1081)

From' the following details, compute income chargeable under

the head ‘Income from other sources’.

Interim dividend ¥ 40,000; Dividend from a company on equity
shares ¥30,000; Dividend on preference shares < 40,000;
Director’s fees T 18, 000; Ground rent T 30,000; Income from sub
letting ¥ 60,000; Dividend from foreign company (net) 50,000
and Income from agriculture in England ¥ 60,000.

Gemeuid elleugmiseners GQaran® Qsr (pomsalldmbg GuHD
QLMD SmT&S (8.

QL sste ukisrgmwb m. 40,000; fpwl ukigseldmbg QuDdD
LmsTSTWD p. 30,000; aperayMenibll LIRIGSET BSTar LRISTSTWD .
40,000 Quis@enitsar sl_Leawrid ep. 18,000; flo eumens . 30,000;
Cwé aum_eswrs Quppn euorard @. 60,000; we BT Hmio
urisTsmUb (Hlsmb) ep. 50,000 ; @rdlonbg Brigeambs GUHD
efleugmw eumLomenid ¢m. 60,000. ‘

From the following details, compute the gross total income
chargeable to tax for the Assessment year 2016-17. House
property income ¥ 45,00,000 Business Loss 50,00,000 Income
from -other sources ¥1,00,000; Short term capital gains
¥3,00,000 and Long term capital gains ¥ 11,00,000.

emeud eleuprisamens Gamemr® 2016-17 =y euflelfllndnasrer
Qr$s UHLOTEILD GTEUAUETE 6TES SHauTSHEl(Hs.

S @& Qomsgy eumomend ey 45,00,000; efwumury  BULD
. 50,00,000; @sr epemsala®mbg QuHp eumorand @. 1,00,000;
GuALSTD epmsar Gaomub 5. 3,00,000; BTl e (posear @emLib
5. 11,00,000.
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19.

20.

21.

Compute the total income of Mr. X and Mrs. X from the following

information

Salary income (computed) of Mrs. X ¥2,30,000; Income from

professmn of Mr. X ¥3,90,000; Income of minor son ‘B’ from ‘

company deposit ¥ 15,000; Income of minor daughter ‘C from
special talent ¥32,000; Income of minor daughter ‘C’ from bank
deposit ¥3,000; Glft received by ‘C’ from a friend of Mrs. X
2,500.

Gemeumd eleugrusenens Qamam® Hwm. aéa wHHD Hmodl. aTéev

Sauiaeflar Qurgs euHTeDd sarsdl[Hs.

Hmwd. erdev euisefian Fbuemd (semradLulLg) . 2,30,000;
. eréav euisellar QsmPd aumwrend ;. 3,90,000; 9@ erem
@m@ur’r weer Hipo el mbs QuDD au@LraD ep. 15,000; ‘@’
GTGOT[D Qereuit  &eT geng| Qembs Spepowired FFligll  GIHLOTELD
. 32,000; ‘a8 eremp @ereuir wser Himo meudalmbs Qupw
aumLTed . 3,000; ‘e eremp @mﬁurr L&eT, H(HLS. eréen Sleuisefer
perLfBmHE Qubp ufsser p.2,500.

SECTION C — (3 x 10 = 30 marks)
Answer any THREE questions.

State the provisions relating to clubbing of income of other
persons.

9 puitsaien eumLTaSmS ey Carssen Frihg ellfsmar eflour.

Mr. X, purchased a house in May 1984 at a cost.of 3 40,000. In
June 1988, he added two rooms at a cost of ?30,000. In June
2014, he sold the house for ¥5,00,000 and paid ¥10,000 as

brokerage. He purchased a new house at a cost of ¥2,00,000 on-

10th March, 2016. Compute the capital gain for the Assessment
Year 2016-17. CII for 1984-85 = 125; for 1988-89 is 161 and for
2015-16 is 1,081.

. erdev eremueur G 1984é @ 40,000 Qar(ss oS qem
aumidlenmi. g9er 19886 @ 30,000 Qeavelldr @ram® iempsmen
sligai. @Oar 20146 oips efieor @ 500,000&g b,
Apuemer srsre @. 10,000 eefgsmi. wrré 10, 2016 e @.
2,00,000 Gar@®ss udw i@ eemmy euriiflemt. 2016-17 <yib
afleffiumamad eposear AFTLSMES sansdDs. L&s elame
GO 1984-85 ¢ 125; 1988-89 é 161; 2015-16 & 1,081.
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20N

23.

Compute the income from other sources of Mrs. X from the
following details :

Director’s fee from a company 210,000; Interest on bank
deposits 3,000; Income from undisclosed sources 312,000;
Winnings from lotteries (Net) ¥24,500; Royalty on book written
by her ¥8,000; Remuneration for lecturers given 5,000;
Interest on loan given to a relative ¥ 7,000; Interest on tax free
debentures of a company (listed in recognized stock exchange
(net) ¥3,600; .Interest on Government - Securities ¥ 2,200;
Dividend on shares £ 6,400:;. Interest on Post Office Savings
Bank Account ¥5,000; She paid 100 for collection of dividend
and T 1,000 for typing the manuscript of book written by him.

Geameupd eleughsmard Qameam® SHmod. eréev Grsmumrﬂan [\
gpomisailadldbg QUDD eubLTaE®SS HanTad (.

Bmwsdmbg Qubm @Qusgeant siLewmbd @ 10,000; eumid
ameaul9elmpg  Qupp ey @ 3,000; Qmaﬂuu@\ggrr}_;,
eperiseaielmbg QU eubwred m. 12,000; ufls & .6 apad Qupp
uflsgar (Hlamb) . 24,500; eum adu Us555HS8mHE S5
G55ma Qgrans @p. 8,000; elfleyenmumpiluigen epeod Qupp sarfuid
. 5,000; o pellenpéE <iafiss srear 55 Qupm el ep. 7,000;
(erdsfssiul L ukE shosudled. LligualliiulL) efaoor
Bmws s er usdrhigar Bsrer eully (Flsmb) . 3,600, oiyal
19l 6 6507 W MR S 6 687 LBg,rrm ey @p. 2,200; Himiol ukisTsmwb . 6,400;
Slghes Celluy samsdldimbgs Cupm euly . 5,000, e
URISTSTWLD eu@GeEs sl Larons Qeasdwug . 100; wpmibd ieuf
audu Uusss @sQupsgl Grdow sl s Celiw sl amons
5. 1,000 Qegusdemi.

Mr. X submits the following information for the year ended
31.3.2016. Net profit as per P & L A/c ¥3,37,500; Expenses
debited in P & L A/c: He used goods for his personal use. The
value was credited to sales account ¥75,000. The cost of which
was 60,000; Rent of residence at T 1,08,000; payment in cash
for purchases ¥12,00,000; sales tax in dispute ¥.60,000 interest
on term loan from SBI paid in the month of May 2015
¥2,10,000. Amount credited in P & L A/c: Agricultural income
¥1,50,000; Income from UTI .90,000; Winning from lottery
3 3,00,000. Compute the taxable income.
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